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1. Letf: A —B be a function defined by f (x) ==—1 where A ={2, 4,6,10,12}, B ={0,1,2, 4,5,9}
Represent f by (i) set of ordered pairs (||) atable (i) an arrow diagram  (iv) a graph
f: A —>B eteotm amjumerg f (X) = g— 1 ete0r_eumTUMISSILOS MG, @RS,
A = {2,4,6,10,12},B={0,1,2,4,5,9} o186 @m&Gueurs iy f-g dearaimn wemsafl @Gmlés.
() euflemssd Gemeseflerr seuord (i) 9| reusmenor (i) YywysSESM ULLD (V) euemFLLLD

2. Represent the function f = {(1,2),(2,2),(3,2),(4, 3),(5, 4)} through

(i) an arrow diagram (if) a table form  (iii) a graph

f = {1,2,2,2,3,2),@4, 3),(5,4)} steorm grrilemenr () LouSGOIULLD (i) L euemesor - (i) euemTLLLD
ELPILITSHS (SMISSALD.

x+2; x>1
3. If the function f is = {2 b —-1<x<1 find
x—1; -3 <x< -1
OREE)) (i) f (0) (iii) f (=1.5) (iv) f 2)+f (—2)
X+ 2; x>1
f eTedTm) EmLITeDTGI= {2 ; -1<x=<1 6T60T 6UEDITILINISHESLILLL T6V
x—1; -3 <x< -1
) T (3) (i) T (0) (i) f 1.5 (v) f @+ f (2 g Swamdlsr LHILSmETS &T60s.

4. Given A={1,2,3}, B={2,3,5}, C = {3,4} and D = {1,3,5}, check if (AnC) x(B nD) = (AxB)n (C
xD) is true?

A={1,2,3}, B = {2,3,5}, C = {3,4} wmmio D = {1,3,5} ererflev (ANC) x (BND) = (AxB) N (CxD)
6T6OTLIG 2 6uoTemLolT 6T6oT GC&TEHSH&aLD.

5.LetA={xeW|x<2},B={x€ N|Ll<x<4}and C={3,5}. Verify that
Ax(B U C) = (AxB) U (AxC)
A={xeWx<2},B={xeN|1<x <4} upmgo C = {3,5}
Ax(BUC) = (AxB) U (AxC) susTur(hsemerd Fflumyss.

6. LetA={xeW |x<2},B={xe N|1<x<4}and C={3,5} . Verify that

(AUB)XC = (AxC) U (BxC)

A={xeW|x<2} ,B={x€ N|L<x<4}uwpm C = {3,5} (AU B )xC = (AxC) U (BxC)
gLeruT(h&enerd SflUM &

7. Let A = The set of all natural numbers less than 8, B = The set of all prime numbers less than 8,

C = The set of even prime number. Verify that (A n B)xC = (A><C) N (BxC)

A eteirugl 8- eilL& @emmeueDT @u_lsu stevor&eifleor &evorin, B eTeirLg) 8- afL& (& smmeuTent
usm eTenorSHerflesr SHeworo Lommin C eTearLg @ITUemLLILDL. LST eTenorderfl6oT &H6worin eTeoflv,

(A N B)xC = (AxC) N (BxC) gustur(h&emeng SiflUm&H s
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8. A function f: [-5,9] — R is defined as follows: f(x) ={ 5x%2 —1 ; 2 <x<6
3x — 4; 6<x<9

() f(=3)+1(2) (N F()-TQ) (i) 2f @@ W) {L 2L
f:[-59] emeorm &miUTeE WetTeu(mLomm euMIUNISSLILHSNS)

6x+1; —5<x <2
f&x) =1 5x*—-1; 2 <x<6

3x —4; 6<x<9

() F(=3)+F(2) (i)f(@)-F (1) (i) 2f (4)+ f (8) (iv) {%} ayAuaHilsr whHLsmens

SIT600TS

9. the functions f(x), g(x), h(x) as given below. Show that (f og)oh = f o(goh) in each case.
f(x)=x-1,g(x) =3x +1and h(x) = x°

QarhissuuL (), g(x), h(x) swanmns G s (fog)oh = fo(goh) sm (hs.
f (x) =x—1, g(x) = 3x +1 and h(x) = x°

10. the functions f(x), g(x), h(x) as given below. Show that (f og)oh = f o(goh) in each case.

f(x) =X, g(x) = 2xand h(x) = x + 4

QarhssiucL T (), g, h(x) sumnmns Gameor® erers (fog)oh = fo(goh) sm_(Hs.
f(x)=x% g(x) =2xand h(x) =x + 4

11. The Ratio of 6™ and 8" term of ap 7:9 find the ratio of 9" term 13" term.
Q@ & LbS Car_ia fmsulsar 6—aig wonw 8—aig 2 muysaflsr eflflgn 7:9 erafle,9—aug)
nmit 13-eug) 2 miisefler alldlsn smamoms.

12. The sum of three consecutive terms that are in A.P is 27 and their product is 288 find the three
terms. @ snL(Bs Osrijauflmsuien gmuns 90HS5s5068 eysm 2 milyseflar sw(hge 27
nmid  eumnilesr GLmSSmuestT 288 eTefley, 9hd eLpeiTm 2 MIILSEDETS SHIT60TS.

13. If nine times ninth term is equal to the fifteen times fifteenth term,show that six times twenty
fourth term is zero.

R sl (08 GarLijouflmeuiler eerugralg 2 mirniler 6erUg LLkIGLW, USlmarhameasg)

o mLfletr LSlMETHG! L BIGW S0 eTafley @HUSS HTETSHTEIG 2-MILT6T M L0l BIST6T S
L& ereor flmie|s.

14.1fa; =1, a,=1,and a, = 2a,_; + a,_, n = 3,n € N, Then find the first six terms of the sequence.
a; =1, a,=1, and a, = 2a,_; +a, ,n =3, n €N eefle, QaT_Fauflmasuier e
LM 2 MIIL|S6N6TE ST S

n%- )
n is even, neN
15. Find agand a;5 Whose n™ term is an= “+23
n is odd, neN
2n+1

n?-1

n 61 @\ 6mL 6Tevor , NEN
— n+3 ) o . . .
an= 2 6TeoTLIG N —6ugl 2 mII 6Teafley, g LOMMILD By
621 6MemM 676807, NEN

2n+1
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16. The sum ofN fi ?’é’tpnaf rs'mazlaléHd\l F\ terms of an A.P. are S1,S, and S; ?’g\év[%'cqﬁlse%t/'.pﬁ'r'gve that

Sg = 3(82_81).
S1, S2 wmmin S3 ersoruser (PeomGL @ Swl(hlE GemLiauflmsullsr pso N, 2n womi 3n
o mi&efler &G Y @&W. Sz = 3(S,_S;) eTer Himies.

17.1fS1,S;,,S3, Sm are the sums of n terms of m A.P.s whose first terms are 1,2, 3,...,m
and whose common differences are 1, 3,5,...,(2m -1) respectively, then show that

Si+S,+S; . Sm = % mn(mn+1)

Si,S, ,S;, Sm eteorerr - GleusnGoum swl(hg QarLjeuflenaseflar N 2 mitiyssflar . (hgem@Lo.
s o mityser -1, 2, 3,..m womn Gurg elgSursmssr 1, 3, 5., 2m-1) YemmGuw
mn(mn+1) eteor MHlemiss.

N~

IDLUHESTH, IhS L BHF CsTLjaiflmsulls Si+S+S;. Sm =

18. Find the sum to n terms of the series 5 + 55 + 555 +......
5 + 55 + 555 + erearm GgmLjeuflenauflesr (g N 2 milsefler & (hes Srers.

19. Find the sum to n terms of the series 0.4 + 0.44 + 0.444 +
0.4 + 0.44 + 0.444 + ereory QaTLfauflemauilesr S0 N 2 M Safler S (blg STaors.

20. Find the sum to n terms of the 3 + 33 + 333 +
3 + 33 + 333 + etetrm QETLjeuflensuflssr (g N 2 miLLSs 6T S (hgs Smeoors.

21. If s, = x+y) + X% + xy + y2) + (x* + x*y + xy? + y3)+..n terms then prove that
X*x"-1) y*(y"-1
< — U y—1
sp = (X +y) + (x* +xy+y%) + (X3 + X%y + xy* + y>)+..n 2 mliyser euenr eTesfled
_ X@E-1) yAe"-D

(x = y)sn = ste i

X—1 y—1

x—y)sp =

22. Rekha has 15 square colour papers of sizes 10 cm, 11 ¢cm, 12 cm,..., 24 cm. How much

area can be decorated with these colour papers?

CraraiLi 10 G&.f, 11 Q&.8, 12 GF.b,...... 24 Qeuf ettt LSS IyemeleTer 15 F&IT 6llge
EUETOTEOOTS SMTEIGMIGET 2 6T6T6r. ©)hS 6UGTES SNSHIGHhGSMmS Glsmenr(H sTalalaTe)
LTLisoL QLS5 RISHES (Plgin?

23. Find the sum of all natural numbers between 300 and 600 which are divisible by 7.
300-5@W 600-5@W @G 7-910 aEGUBILD ImaTSS @I sTensafler & (Hge
SIS

24. In a winter season let us take the temperature of Ooty from Monday to Friday to be in A.P. The
sum of temperatures from Monday to Wednesday is 0°C and the sum of the temperatures from
Wednesday to Friday is 18°C. Find the temperature on each of the five days.

Q@ Geflfarugdle Sngst SHpemn g GeusTaflsSlpemn aemy 26m ipullsar GlauliLiflensu
gl (05 Gar_jauflmauile o srerer . ST SHpemn (pSHo LSETSHILEmL auemT 2 erar Glauliu
flemsugsefler gz 0°C wmmid ygerlpsnn (e GleusaflsSlpemn ausmy o sirer Glauliu
flemsugefler g.(hgev 18°C ererflev, g mrisefler GeuliLflenaugsners smetrs.
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25. Thales theof *odesalaiNe v CBSELps !

Gaeveny GammMLD

26. Angle Bisector Theorem
Camemr @\(mawblai’ly GCsmmLd

27. Root of a polynomial method. x* — 12x3 + 42x% — 36x + 9
LIS Camemeuuflsir eujée epeud e x* — 12x3 +42x% — 36x + 9

28. Root of a polynomial method. 16x* + 8x% + 1
LsMIILG Camemaiufer aIf&Hs epeld Smerd 16x* + 8x% + 1

29. Find value of a,b 4x* — 12x3 + 37x®> — bx + a
a whmin b wdly smeors. 4x* — 12x3 4+ 37x* —bx + a

30. Find value of m,n 36x* — 60x3 + 61x* — mx + n
m wpmitd N wdiy srems 36x* — 60x> + 61x* — mx + n

31. GCD Of Polynomial x3 + x> —x+ 2 and 2 x3 — 5x* + 5x = 3
LeMItLG Camsmeuuferr 15.Qum.en sreors x5 +x% —x+ 2 womin 2 x3 — 5% + 5x — 3

32. GCD Of Polynomial x* —1 and x3 — 11x%* + x=11
usmItILS Camemeuulflesr 15.CQum.en srewre x* — 1 whmd x> — 11x* +x — 11

33. P and Q are the mid-points of the sides CA and CB respectively of a AABC , right angled at C.
Prove that 4(AQ” +BP?) = 5AB®

AABC —-ufleo C gy org GlemiGameoorin g‘%@fn. ussnigst CA wnmin CB-ufler mHLLsTefl&eir
peomCu P whmih Q eefles 4AQ° +BP%) = 5AB’ sar Himinys.

34. Find the area of the triangle formed by the points (1,-1), (-4, 6) and (-3, -5)
(p&CaTemmrSdlenr UL Stevors (1,-1), (4, 6) wnmid (-3, -5)

35. Determine whether the sets of points are collinear (a, b+c), (b, c+a) and (c, at+b)
0T CrI&CaT 190 ST s Siuraflssan (@, b+c), (b, c+a) womid (C, a+b)

36. find the value of ‘a’ for which the given points are collinear (2, 3), (4, a) and (6, —3)
Q@ Camiige omunsmel srefle, ‘@’ -Wer wdllmus smams (2, 3), (4, a) womio (6, -3)

37. Find the value of k, if the area of a quadrilateral is 28 sg.units, whose vertices are taken in the
order (-4, -2), (-3, k), (3, -2) and (2, 3)

4, -2), (3, K), 3, 2 womid (2, 3) Y& Pemer Semer uflemg WIS ClETETL HTMETSHS| 60T
urly 28 &. geu@ssm eTeuflen, K—uflesr wdlliys smeoors.
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